OGP

phép cong phan s6 (hdn sd)

Tén:

[E—
(VR

O & Wb

2| &

D w Ol 3| —

| —

O

n| —

- +
Ol Nl —

+
| W

+
co| W

_|_
U
W | =—

_|_
[E—
NS

+
[E—
W | =

_|_

ENQE

+
=

(O N\

< B~
+
< B~

oo | W
_|_
)
I

+
ool O

N W

+
O | —

(O N\

o
+
©) W PN
Il

+
ool N

B

RPN )
+
O | W

www.snowmath.com

Ngay thang:

Piém:



https://www.snowmath.com

0 @ % ﬁ phép cong phan s6 (hdn s)

Tén: Ngay thang: Piém:
2 2 31 1 4 4 8 1
Sl ==2— 4o =2=1=

3 5 15 15 77 7 7

4 I 16 7 3 2 37
—+t]l-=—=1= —+—=—

9 3 9 9 8 7T 56

4 2 29 1 3 6 5 1
—+1s="=2— Z4-o=2=1-

7 4 14 14 6 8 4 4

1 1 9 2 1 23

B 4+ ==

7 2 14 5 9 45

7 4 11 2 2 4 20
—y-=—=1% Sy ==

9 9 9 9 7 6 21

3 3 33 5 1 1 55 13
—t+=-=—==1= —t+l-=—=1—
4 7 28 28 7 6 2 42
1 3 7 2 4]
—+-=— 1§+1—=—=3i
2 8 8 4 3 1 12
4 I 16 7 7 5 4 1

— o= —=1= =

9 3 9 9 9 9 3 3

2 1 33 13 I 6
1S+-=2=1— o=

5 4 20 20 4 8

I 1 29 9 2 3 5
l-4+-=—=1— —+ - ==

5 4 20 20 4 9 6

www.snowmath.com


https://www.snowmath.com

